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@ fE) =22 -5v-8 an( i, cove. e
1 ) .‘-D Recause a < 1, the parabola opens up.

14. Tell whether
function y ~ —22% — $x + 15 opens up or.
down, and why.

o) Becmee

paraboia

©) Because > U, e parabola opens
down.

d) Because a > 0, the parabola opens up.
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Algebra

Name:
item ©
Exemplar Response
Points.
Awarded e
‘Part A: Tne parameter 2.400 represents the nitial valus of the prnter in dollars. Or other
vaiid explanation.
o
Part B: 14% decrease each year.
4 |ano
The base of the exponent is 0,85 which comes fom subtracting the rate from 1. The rate is
0.14 or decreasing by 145.
o
PartC: $1120
3| The student comectly answers three of the four pars
2| The student comectly answers two o the four parts
1| The student comectly answers one of the four pars.
0| Response is imetevant, inappropriate, or not provided.

Note: I a student makes an erro in one part that is camied through to subsequent parts, then the student
Is not penaiized again for the same error.
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Algebra 1~ U3C Day 4

Graph Then,

Unit 3C Test Review Part 1 Name
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Agebra

Item 9.
Extended Constructed-Response

ign store.

Name.

. The printer

The function ¥ = 2,
the printe in dolars after t yoars.

PartA
‘answer in the space provided.

PartB

Explain what the parameter 2,400 represents in the equation of the function. Write your

pri Explain your
‘answer. Write your answer In the space provided.
Partc your
‘answer in the space provided.
PartA
Part®
Partc

April 16. 2019. Tuesdav

Item 16

Multi-Part Technology-Enhanced

A quadratic function is shown.

Part A

What is the factored form of f(x) that reveals the zeros of the func\jon?

A

Q@

ftx

)
x)
)
)

D. fix;

Part B

What is the equivalent form of f{(x) that reveals the minimum value of the function?

@ (x+\k‘71 azlh: czf

(x|

B.
C.
D.
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x+1)°

-8 W= Y g

T ]

Quadratic Formulas
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Georgia Milestones Algebra | EOC Assessment Guide

Item 1

A (0,008, (2,19, (3,22), (4, 30)
B. {0,5).(1.6),(2 10).(3,16), (4, 28)}

©. (0,50, (1, 42), 2. 33), 3, 25), @, 16}
D. ((0,64)(1, 60, 2. 52),3, 39), (4, 22)}

Item 2

Use thoso functions to answor this quostion.
PX)=x2-x-6
Q=x-3

What s P(x) - Q)2

som>

Item 3

Ingrodionts. on

Shows the total daily expenses for Sheila’s bakery to make X pies.
475) + $0.50x

‘What does the term (75) represent?

The amount o money Sheila must pay her employees per day.
The number of pies Shela must sl per day.

The total cost of expenses per pio.

The amount of money customers pay per pi.

som>

Georgia Milestones Algebra | EOC Assessment Guide

item 4,

‘Which function represents the data in the table?

A )= 2041

B /()

¢ f@)= -1
o f@=3+1
tems

What is the solution to this system of equations?

‘Georgia Milestones Algebra | EOC Assessment Guide
Item 6
Information about the costs of three catering companies Is shown In this table.

Catering Company Costs

Acme Catering BestFoods | Creative Catering
Company Company Company
$6 per person plus | $8 per person plus | $10 per person
aflat $100 time and | a flat $40 time and | charge with no
equipment charge | equipment charge other fees

can spend no more than $300 on catering. What Is the groatest number of
people he can Invite using one of the three caterers?

30
2
33
37

som>

Georgla Milestones Algebra | EOC Assessment Guide

Item 7

Which set of data could be BEST modeled by a quadratic function?

Georgia Milestones Algebra | EOC Assessment Guide
Item 8

This list shows the number of text messages each student in a group sent in
o day.

16, 2, 8 5 3 20
15, 4, 9, 16, 19, 17

The students are creating this histogram to show thelr data.

Number of Students.
N oW » oo o

15 ' 610 '11-15 1620
Number of Text Messages

What should be the helght of tho bar for 6-10 text messages?

sowm>
aamn

7 7
5 of Ll L 1
s s{——11= .
% e T PE
3 3 . .
z M -
1. 1
x x
012345678
7 ol e,
s o sl ot
s = o IPEE
c. & o AT T
3 3|1 tte
) ) NS
p x T
L .
g 0123545678
3
Georgia Milestones Algebra | EOC Assessmen Guide
Item 8
This list shows tho ntin
o day.

16, 2, 8 5 3, 20,
15, 4, 9, 16, 19, 17

The students are creating this histogram to show thelr data.

Number of Students.
oW s o o

0
15 ' 610 11-15 1620
Number of Text Messages.

What should be the helght of tho bar for 6-10 toxt messages?

A
B.
c.
o.

aan e
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Standard/ | DOK | Gomect
"em | Elemont | Lovel | Answor Eoomn

answer s cholce (€ (0,50), (1, 42), 2, 33),
25 4 63, Tt st of s polts

oriy one from the lst that could be modeied by a
dacreasing inear function, which has a

Vaiue for I the finea function formula: 1(x) = ax +b.
Crokoss (A 3, nd D)o kot bocme

data points do not cor 0. function with a
negative value for a In the linear function

The corct answer Is choloe () X - 2x 3. This

1 | MesEs1251D6a

hoice ()
Is incorct due 0.2 sg eror o tho term x.Choice (8)
15 Incorrect due o adding A and Q. Choce () s
Incorrect due o sgn eror o the

The correct answer ischolce () The amount of
money Shela must pa her empoyees por day.
Chole (8 i Incorrot bocause the number of

pies Shella must sell per day i represented by

3 |Moseo12assEta| 2 | A [ Choico (©)isincorrect becouse the total cost of

2 | Mosto12AMRY| 2 | ©

e amountof ey usiomars pa pr b 5 ot
represented in the expression.

The correct answer s cholce (D)X= 5 +1. When
0 40k n e table oo substuRed forx s
function, the result s equa 1 the corresponding.
yvalue. Cholcs (A) s Incorect because the function
Indicates mutplication of 2 and x instead of division
4 | MGSES12FBRL | 2 | D | ofxby2.Cholce (B) isIncomect because the function
Indicates subtraction of 1 Instead of addition of 1.
Cholce (€) b Incorrect because the functon Indicates.
multipication of 2 and x nstead of division of x by

2 and Indicates subtracton of 1 instead of additon

o1

Georgia Milestones Algebra | EOC Assessment Guide
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1 answer Is choice (C) 33. AL $6 per person,

6 | Mases12acED.1

B

B

:

H
B8g
£
H

g

2

because the
the highest number without basing,the response on
dod.

Th comec anever s choo (€ The ata It

(0 roresent comtato o ncor . T
graph in (8) represents data with o clear correlaton.

The correct answer is choice (B) 2. Only 2 students
ertc-10 ac messags. Grokcs ), (C, 1d )

ouming it or oK 3 156 oo o 11-15
Or 16-20 text messages instead of those for 6-10.

10 | MGSESAZFLES | 3 | N/A | seenextpageforscoring rubric and responses.

plar resp items 9.8 10,

Item 9
Scoring Rubric:

Points Description

The response achieves the following:
« student gets Part A AND Part B cortect
ponse achieves the following:
+ Student gets Part A OR Part B correct

The response achieves the following:
« studont gots nlther Part A nor Part B correct

Exemplar Response

Rosponse

it

& when dviding,
D

PartB:

ax<axi8

“1x<s

»s
=7

PartA:
0 i ot invert

Item 10
Scoring Rubric:

Points. Description
The responso achieves the following;

Interpreting the
astudent

function In

response that contalns allof the following,lements:

a « Part A $2,000

+ PartB: 0.5% per month

« PartC: 22 months

+ Part : $2,231.94. Since it will take 22 months for the student counci o save
‘enough money, for w22) 4

The responso achieves the followin;

Ina nea fnctn 1 emsof acontxt. Averd 3 s for asuden osponso that
any 3 of the following,elem

* P £231.04.Shce 1 ik 22 ot o e st conce s
for w22), 4.
Scoring Note: If an error s made In one of these response elements, future
upon the previous
erto. For exampe, If the student Indicates 8 months as the response 1o Part C

should bo scored as corroct.

The response achleves the following:

Inerpreting.

‘contains any 2 of the following elements:
+ PartA $2,000

+ PartB: 5% per month (see “Note for Educators” below)

~ Part B: 0.5% (with or without *rate” duration includod)

« Part C: 22 monhs

« PartD: $2,23194

2 ‘Scoring Note: If an error is made n one o these response elements, future

ertor. For exampl, f the student indicates 8 months as the fesponse 1o Part C
thon

Should be scored as cortect.

response.

cy
indicate partal
points. In this example, the two possible responses for Pt B represent cases where

1 3
crodit In thelr responsos at the 1 and 2 point levels

Points. Description

The response achieves the following:

alinear rd 1 point for
contains any 1.of the following elements:

- Part A $2,000

« Part B: 5% per month (See “Note for Educators” below)

~ P Q5% s of wihot 1t Gt

« Part B: 1.005% per mont

« Part C: 22 months

- PanD:$223194

1 ‘Scoring Note: If an error s made in one of these response efemens, future

upon the provous.
ertor. For exampie, I the student indicates 8 months as the response to Part C

Should be scored as corrct,
Note for Educators: Highor scoro loves rfloct higher lovels of procision and

PONTS. In his example, the two possibie responses for Par B represent cases where

005 witin s cotet, 5o studont Mo comit thes oo il rcehe paral
credit n thei responses at the 1- and 2 point level

The response achieves the following:

o rpreting the parameters.

ina inear function n terms of a context.

Exemplar Rosponso

Algebra 1

EOC Practice Test Prep Bubble Sheet Answer Key

Student Name:

Place response to question 9 part A below:

Ploce response to question 9 part 8 below:
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Algebra1 )
April 17, 2019, Wednesday
Answer parts A5, & D fortem number 10 below
rart
14 MGsH
Item 14
Selected-Response
fanc
Which value is an irrational number? 15 Mas|
A 4407
Por
B V3VE Item 15
3112 Selected-Response
[
5 The table defines a quadratic function.
D. V3-V3
x y
-1 5
[ 1
1|1
3 1
What is the average rate of change between x = -1 and x = 17
A. undefined
1
B3
c 3
D. 4
1
"Algebra 1~ U6 Day 1 Statistics Vocabulary Notes Thecli CLerente | 1ns >
Terms Pescrlbe Example . l t rt_l between the third and >
Measures of | " Mean(Rverage). 3,53 2*—:' =5 e quUarte | o ties, 50% of the | asomabone— @ =30 = 20)
Median 0,42 3124, ® ub_ 5 Range data is contained within
Center = Mode 2,%,2,4=5 =- this range.
J <

The (VYCOUNY of | Find the mean: A plot showing the

Mean | *Snimnie g 2 iy R —
the number of data paints | ° Box Plot mggncnufudméd, . :
The TN n the middle 50% of thedata| © © = % @ © w 7™
" thanit # ‘ﬁ)\‘;‘“&%ﬂ){- v that shows the number of

times a response occurred

— Range 33505 276 DOt Plot | 7 dara ser. where cach

Measures of

Variability i data value is represented

(spread) - o — Interquartile Range (IQR) oyt
el between | g5,65,70, 75, 80,80, 85,90, 95, 100 alni rGV Rt

Range Range = highest # - lowest # in the dataset that shows He number of

numbers in

e data set. range= (00 -(05= 35

A data value that is much

times a response or range
of responses occurred ina

HlStogram data set. e lys are

S &12 @00 and wil
be the \VOL c%(znﬁ
across the chart.

in or

€ I 4
Outlier muchSOE Tl han the

rest of the data in a data

Statistical Measures Notes .

set. 1. Given the following data for Iempe%r&y I;Zﬁrs\ two weel:s of February 2014.
The value that identifies 51, 44, 26,25, V7, 2% Eﬂ %lw’ ﬂ, Z(: 3. P
First the 25% of L % a5 3%, 1 LAM Sl

MeanTH#25 M 1rqV_ | Mine ax:
s 3

] 43
the data set; written as Q.. 5—#

the rum; the median of

Quartile the [DWE V™ half of

a edian 39 FOY @
3l Sodz
Value that identifics the R 0 —
jmfzg{‘ 25% of the = £ Boxploy
i ot he median of the
Thlr(.i _le ool the os-os-n-n-n/;/m‘! ol S
Quartile | dataset: 75% of all data s gy

less than this value; e l } 3{ 4l Sq Ed

written as Qs

So7. StatisyihTBaslres & Graphs Practice Analyzing Data Sets Notes

1) Use the box and whisiepfflot for qustions 3=+ Focus on Four Features:
Height in Inches « Center- Graphically, distribution is the point where about
of the data is on either side.

| | | 1 | 1 « Spread-The spread referscothe__[* AN QE, of thadata. ,

| ) « Shape - The shape of a data distribugion focuges on an:he._\sht

|9 w6l 6 6 ¢ 65 66 . Uil Foo et ae e o Rax
a) Whatis the median? (0 Z

2 soread-the__ 01 o 1A ofthe data

b) Whatis the lower quamleQ] 7 (D O
) Whatis the upper quarn’leq ’5" (D L't

d) What are the upper and lower extremes (maximum and minimum)? 5 % ) (p(p . Less Spread . More Spread
©) Whatis the range? (ﬂ@ '55 = g .
) Whatis the interquarcile rangeT QR 7 bd -(0= ‘1’

&) What percentage of data i located between 60in and 64in?  %5() * /|

h) What percentage of data is located below 64in? 7 5 /.

i) What percentage of data is located below 60in? &6‘ /‘

2) Analyze the given histogram which displays the ACT composite score of several randomly chosen

i
Z

2) How many students are represented by the histogram? O + \@ + 5+ Y +3:. 13 Uanmmfmemmmmmm&Qm

<
LR

Z7

= » 3

3'ovp? Qrovpt
outhers

b) How many student scores fall between 15 and 257 b + 5 =1)

©) How many students have scores ess than 302 )+ (0 + © M= A O

d) How many students have scores between 10 and 15 and between 20 and 257

NO g2 2525 *
10,20,10,26.20

©) Canyoud

BETHS " H§a0
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Statistical Measures Unit 6 Day 1 Homework
. G0

1. Given B of February 2014,
51,44, 28,25, 17, 71, 62, 32, dySlplidyFrbirde

—z\/ - Median Q3 IaR
floe

70

2. Now look at the temperatures for the first=reeks of February 2013
30,46,50, 27,52, 43, 47, 53, 56-20-5642-36736~

Max Range.

2) Calculate the following:

Mean Min, Max Range
aL Median @3 1R
Box Plot:

b} Which year has a higher mean? What does that tell us?

) Which year has a higher median? What does that tell us?

d) Which year's temperatures were more variable? How do you know?

) If the temperature drops to 0 for 2 days in 2014, how does that affect the data?

3. Analyze the given dot plot which displays the rumber of hore runs by each of the members of the

Apri questions accordingly.

b. How many players are on the team?
. How many players hit more than 2 home runs?

d. How many players hit at least 1 home run?

. How many players hit more than 1 and fewer than & home runs?
£. How many players scored more than 9 home runs?

& How many players hit more than 1and fewer than 5 home runs?

h. How many players scored less than 3 home runs?

i.C of the data player).
J. Determine the 5 number summary of homeruns (Min, Qs Median, Qs, Max)
k Calculate the IQR of the homeruns

4. Mr. Corson’s recent science test had the following scores:
0,70,85,65,90,80,65,70,75,80,85,80,60,80,75,8:

Construct a box-and-whisker plot.

April 18, 2019

0  measure of central tendency is most affected by the drop in temperature?
Practice:

3 in the spring. Each cords the number of bose
without being called out.

2. What was Kirsten's mean and median scores?

‘

Number of times at first

b. What is the range of Kirsten's data?

0|00 |~ o e o] =
BN EEIS e

a. i froma

108,107, 100,120, 63, 119, 118

a. Find the mean and median scores.

b.What do you notice about the mean and median scores? Compare ther.

. What has caused the mean and median scores to differ?

5. Find the median, t (lower) quartile, the , and
the following data. Then draw a box plr.

40,62, 47,68, 12, 78, 49, 65, 49

Item 11 April 18, 2019, Thursday
SelectedResponse

A scientist studied the relationship between the number of trees, x, per acre and the number of birds,
J.per s n a nelghborhaod. She modeled the reationsh AT <atter ot and wed the soweh
FETT6x for the regression ne. What s the meaning of the slope andy.ntercept of this regression

A The slopeis & This means that the average numbr ofbirds er acr 1 anarea wih o rees i . The

yintercept i 1y 1 additional tre, an average of 4 additional
birds per acre.

his means that for every 1 addtional tree, she can expect an average of 4 additional

5. Toosapedoicd
mwmmm s 6. Tis means that the avarags mr of it pa are I an ren
it o

. The sionals 6 This means that for every 1 additional tree, she can expect an average of additional
D e 2 e yintrcept s 4. Tis e that the overage nmbe of s pr Soe 1 ares
With pg trees is T

D. THNg@Pe e This means that the average number of birds per acte in an area with no trees is 4. The
yine s 6. for every 1 aditional tre, an average of 6 additional
oor

big

Slope-intercept Form: y {nk + b

item 12 Y3bX+4

SelectedResponse

A igh schoo students was surveyed. es should be
mandatoryforal The resuts

in the two-way table.

Agroe | Disagree | No Opinion
Festman |5 4 12 7
Sophomore | 65 a7 2 104
Junior 8 a2 2
Senior B o7 4
Total 155 75
- | | The eorrect answer is hoice (C). Choice (A) is
because (he yintercept is being used

asarate cf change, Choice (B) has the incorrect

“55942553 2 }‘;b L inkerpré "§¢ within the context. Choice (D)
— nee e [ intdretation of slope and

73.6% F; yintercept within the context.
hd The correct answer is choice (D) 73.6%. The
conditional relative frequency of freshmen who
agree is found by dividing 53 by the total number
of freshmen surveyed, 72. Choice (A} is incorrect
because 53 was divided by the total number of
students surveyed, not just the freshmen. Choice (B) is
incarrect because it calculated the ratio of freshmen
who agreed 1o the number of freshmen who disagreed.
Choice (C) is incorrect because It is the number, not
the percentage, of freshmen who agreed.

141% 1

B

com»>
S

1

K

MGSES-12.5.ID.5 2 D

Algebra 1~ U6 Day 2 Linear Regression Notes
‘Alittle vocab...
« The i the the data poins.
. is:a method used to find the equation of the bestftting line or curve,

he i the number of
in the caf recycled. are listed in this chart.

[ -,......‘L..xmm
S 16

[ [=

2) Find the line of best fit. Round Also, identify

and type of correlation.

b) Find and interpret the slope of the line of best fit.

) How many cans would be recycled if 16 cans were sold?

in billions of dollars

2. The tabl
in selected years. (Data is from the Federal Reserve Bulletin.)

Year, T1985 [ 1990 | 1995 | 2000 | 2003
Consumer Debt | 585 | 789 | 1096 | 1693 | 1987
a) Find the I Round places. Also, identify the correl

of correlation.

b) Find and interpret the slope of the line of best fir.

©) Find the approximate consumer debt in 1998.

) Find the approximate consumer debt in 2008.

Correlation Notes

Cor
A is often used to
Each variable is rep rdingl

A grid b
rdred pairs ). The wayth o by

themselves ina
the two variable. For nstance, b reading the rath below, oo hink

ther
Iy tends to increase as x increases, then the data have correlation.
Ify tends to decrease as x increases, then the data have. correlation.
Mo Gorrtion
RN N T c o8 ¢ g

A correlation coefficient, denoted by , s an “1to1 that how well a
data pairs (x,y).

« Ifrisnear

« Ifrisnear-1,

« Ifrisnearo,
Practice Problems
For each scatter plot, orno

corelaion. Thentell whether the correlaton s closestto -1, -05, 0,05, or 1.

2

3. Positive, negative, or no correlation?
ount of exercise and percent of

body fat

A person’s age and the number of

‘medical conditions they have

=

€. Temperature and number of ice cream cones sold
4 "

Atlanta
e Age ofa tadpole and the length of its tail
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Causation Notes, Algebra 1~ U6 Day 2 Lincar Regression HW. Name
Wi I  even ifir there is not 3 deaths per 100,000 peaple from heart disease in selected years.
Both be related to some thar (Data s from the U.S. National Center for Health Statistics.)
I ly could be the result of chance.
Example 1: During the month of June the number of new babies born at the Utah Valley Hospital was
recorded for a weel arlo’s Bakery in Hoboken,
NewJersey What can b why a) Find the line of best fit. Round to two decimal places. Also, identify the correlation coefficientand type
? of correlation.
Babies vs. Cakes
Number of | Number of
babics born | cakes sold e
F EI +* b) Find and interpret the slope of the line of best fit.
7 50 HE L
5 5 Y L.
10 E FEN d 4
m = i QFi number. 1995.
1 52 R
i B
a) Find deaths due 2008,
Example 2: Mr. Jones gave a math test to all the students in his school. He made the startling discovery
better th His Causation Sta 45 your height
increases, so does your math ability.
What can be said Why or why n
ixample 3: [n this present economy families are trying fo find ways to save money Families might be
‘Causation Statement: Th h
money you spendat restaurants
What can be said Why or why n
Correlation HW
Gl A e s of Pt Stats In-Class Assignment Name.
1. From the information given, H = Vocabulary: Matching
@ Determine if the correlation s positive, negative or e _ L.Mean A Anumber that i beyond the data pointsthat are given
none. =I5 2. Median ®
e i Mode €. Masimum - Minimum
4 Measuresof center . The number that occurs the most
i 5 Range E.The median ofthe lower alf of the data
b Estimate the correlation coefficient. o i o 6. Histogram F. Mean, Median, and Mode
_7-Boxplot G Abar grap y
) i 1. Med "
c. Is there causation? Why or why not? o First Quartile 1. When arranged from least to grestest, the middlle umber
" 10.Third Quartite . Interquartile range and Range
T il 3
12, Dot plot L Third Quarte - First Quartle
" 13, Outier w
2. Ahistory teacher asked her students how many
hours ofsleep they had the night before a test. The ity Grdes n Relaton To HoursStept i How vt s es between 01 A @
data above shows the number of hours the student A 5% B 50% 7% D00%
slept and their score on the exam. The graphis a
scatter plot from the given data. 3 15 plot?
i A Mean B. Median . Mode D Range
a. Determine if is ti H
: 16.The table shows the sizes, in square feet, of asampleof st 1 | 2 | 3 |+ 5 | & 7 |8
efght houses from a nefghiborhood. Whatis U Tange Of | e 1025 1200 2343 200 12295 1500 1077 2455
the sizes of the house? (Hint: Range — Max - Min)
b, Estimate the correlation coeffcient. e STt et et A 205775 B34 C 13485 D-11997

For 178 18, M. Murray rocorded the pulse ratesfor ach of the Puise Rates
. udent o

ol Would (e et cusst A
cins2 T —
Class A
B Chss3  D.Clssd

3 - - —— - Class P [—

17 Which class had the highest upper (third) quartile?
A Classl  CClass2

T
2 Detomine o comeon s posiv, 18 Which s the owest QR? e
negative, or none. T . A Class C.Class2 60 65 70 75 50 85 90 95 100

. . B s bCues
gl . Ce
b Eatimate the comettion cofficion . ] T o L s B o e e
- e Ao B1 c2 03 §
c. Is this an illustration of cause and effect, or are W
ot o avibles sy comelad X
20T S e oy il s e Tt scores e 60, 9, 5, 5, 7 ey oy s 55T sccompanying o s W o o e e
T e v ottt Compare ) o of et reeions B
o oandahshos s wi scnement s | g e -
A. Itwill not change. B. Itwill decrease by 1. [ lice
C It will increase by 1. D. It will decrease by 2. A The median income for nuclear engineers is greater é Sote T
o e e ol . H
1 Aveading hour by each T 5. Musidan [ }———
Shown below. the same. R A T
50,43, 44,44,45,19,49,50 51 . o enginoces o thanal polcooffors. RN A
B e o ey e v i + poce )
o this dt,which smmay st s NOT corret? o
JAp—— %
B Toelower quarileis 44
5 Toe st 51
DL L e e ]
For 2226, d. s ¢ v M e
scores earned on a math fest to snmwer the questions. — T 1+ es -
22 Whatis the medianscore? FEEREGERER
30. E ,
A5 Bm ces o
25 Wit score represent the st quari?
i ,
A55 B.70 C 100 D.75 ‘
24. ol =
A c -
: 5 i .
Athetiiquetle Bemsdan G oemammore Dt men e
26. (i.e. TV's, tablets, phe
) T oo e vespomeen s o el
A 25% B.50% C.75% D.100%
27 oo ol e e i o o 57 o iy b
AG76910) BOATI0  CESTO016 D@79 Mmoo os
5 S .
e b ot Shown plows T
a2 me  cm om R
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Item 9 Algebra 1 ~ Unit 6 Day 3 2 Way Frequency Table Notes
Extended Constructed-Response Music/ars | scA | Ober | Towl
Amy owns a graphic design store. She purchases a new printer to use in her store. The printer
deprciaes by a fed atoper yea. The function V = 2,400(0.86 can b used o madel the alue of Male Malo toeal
the printer in dollars after t yea
PartA  Explain what the parameter 2,400 represents in the equation of the function. Write your Female
inswer in the space provid Female roral
PartB At what rate does the value of the printer increase or decrease each year? Explain your athiaties | Musiofares | 564 | ohor | 7abie
inswer. Write your answer in the space provid Total e S| | e | e
PartC  Whats the value of the printer after 5 years rounded to the nearest dollar? Write your
answer in the space provid
i Marginal Fr Conditional Frequency.
Example 1
! Athletics | Music/Arts | SGA | Other | Total
Male 10 5 1 2
Female 5 6 0 1
Total
item 9
Exemplar Response Whatis the joint probability of a male that is involved in SGA?
points
‘Sample Response
Part A Toe parameter 2,400 represents the It value o the pnter i dollars. O other Whatis the marginal choosing
vald explanation.
e What is the probability that a randomly chosen male is involved in athletics?
Part 8 145 gacresee sach yoar
4 |aw
The base of the expanent s 0.86 which comes from subtracting the rae from 1. The rate s What s the probability that a student who is nvolve in music/arts is a females
~0.10 o docreasing by 14%.
o
Part C: $1.120
3| The student correcty anowers tree of tn four parts.
2| he student camectly answers two.of the four parts.
T [ Toe student carmesty amawers e of the fou pars
0| Response is imelevant. insppropuiste or ot provided
Note: f a student makes an aror in one gt that s caried (rough (o subsecuent parts, then the student
Iz ot peralzed again fo the same aror.

Algebm 1~ Unit 6 Day 3 2 Way Frequency Table HW
2 o — i
g F ) & 2
HHE PR 2
ilz|g|8 il &z B
Wama| 15 | o | o [0 wonen
oo | 2 [10] s [0 en
rowat [ 6 [ [ Tora
2 Basedon the bove el whic s womn
Sy
3. Given that a person likes dancing, what is the probability that the person is a male?
o e s ove

‘The following table comes from a survey of 100 hikers on the areas of hiking preferred. Complete the
table.

Hiking Area Preference
Gender | The Coastline | Near Lakes & Streams | On Mountain Peaks | Total
Female 18 16 5
Male 1t 55
Total a

5. What percent of people surveyed prefer to hike on mountain peaks?

6 P hike th
7. Whatis amale prefers to hike
8. Whatis the marginal pr peopl m hike

o prefer to hil
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